
Item Description Price Retail Price

16100-Z0L-853 Carburetor, GX160, GX200 38.50 51.50
16100-Z0V-921 Carburetor (BE64Y A) 26.56 35.50
16571-ZH8-020 Throttle Lever, GX160, GX200 15.00 20.00
16610-ZE1-000 Lever, Choke 9.16 12.25
17210-ZE1-517 Air Filter, GX160, GX200
17672-ZE2-W01 Fuel Filter, Honda Tank 7.48 10.00
2010-00-5477 Belt, Therrien TS1 23.80 31.75
210006 Trojan Hydrolink Watering System 145.00 193.50
28400-Z0T-003ZA Recoil Comp. GX160, GX200 w/ Steel Dogs 72.27 96.50
28400-ZH8-013YA Recoil Comp. GX160, GX200 w/ Plastic Dogs 72.50 96.75
28442-ZH8-003 Recoil Spring, Honda GX160, GX200 10.45 14.00
30500-Z1C-023 Coil, GX270 40.92 54.75
30700-ZE1-013 Spark Plug Cap 12.65 17.00
34150-ZH7-013 Oil Alert Unit 36.00 48.00
35120-Z0T-851 Switch, On-off for Rollers 13.42 18.00
36100-ZH7-003 Switch, On-Off, Honda 13.42 18.00
390H150 Belt, Pro-Chopper
99101-ZK7-0700 Jet, Main (#70) 7.94 10.75
B50 Belt, Therrien TS1 23.80 31.75
E7002 Joystick, R52-ELT 301.62 402.25
E7006 Bushing, Bronze 20.29 27.25
E7007 Bushing, Bronze Flanged 26.87 36.00
E7008 Smoothing Head "T" Frame, All 52" Rollers 351.42 468.75
E7009 Shaft, T Head berg. Support 153.89 205.25
E7010 Washer Tri-Head Bearing 7.09 9.50
E7011 Order E7216 0.00
E7016 Rod, Stabilizer Unit With Tube 130.56 174.25
E7017 Rod, Connecting Heads 138.97 185.50
E7019 Rod End, Female Studded 43.33 58.00
E7020 Rod End; Female; Steering; M12 22.50 30.00
E7034 Flex Drive Roller Assy.  All 52" Rollers 1,950.00 2,600.00
E7037 Cover Strut, fiberglass 117.28 156.50
E7038 Electric Motor, R52-ELT 1,375.00 1,833.50
E7039 Gearbox, Electric Rollers 1,450.00 1,933.50
E7041 Programmable Controller, R52-ELT 954.08 1,272.25
E7044SP Chain Tightener, (Old R5037) Set of (2) 22.65 30.25
E7045 LED Light, RS48-11C, 52" Rollers 158.29 211.25
E7046 Foot Pedal, R52-ELT 397.36 530.00
E7047 Battery, R52-ELTac 245.00 326.75
E7048 Solenoid, 24V DC 145.60 194.25
E7048A Solenoid Bracket, Fits E7048 17.29 23.25
E7049A Sprocket 15T, R52-ELT 24.26 32.50
E7050 Chain, RS48-11D, R52-ELT Rollers 48.50 64.75
E7054 Battery Holder Frame 196.50 262.00
E7059A Switch, Directional, R52-ELT Roller
E7067 Switch, LED Light 25.56 34.25
E7074 Drive Belt, R52-ELTac 380.45 507.50
E7089 Battery Cable, Solenoid to Battery 12.00 16.00
E7095 Plug, 6 Way Kit for Foot Pedal 78.50 104.75
E7099 Coupling, Center Spacer for Flex Drive Roller
E7131 Sprocket, 27T (Old R5141, R5039A) RS48-11 & 52" ... 40.48 54.00
E7132 Battery Charger for R52-ELT 688.50 918.00
E7135 Roller Shaft, Fits 63.5MM, with End Caps 52.90 70.75
E7149 Smoothing Roller Complete, 52" Rollers 125.54 167.50
E7156 Smoothing Head Cover, 52", less Rollers 367.33 490.00
E7162 Order E7221 0.00
E7164 Trailer Arm LH, Fits R52-11T & R52-ELT 451.11 601.50
E7168 Smoothing Roller Frame Assembly, 52" Rollers 740.00 986.75
E7171 Drive Shaft for Flex Drive Roller
E7183 Drawbar Extension Kit 242.50 323.50
E7187 Draw Bar Straight; Pin Type Hitch; R52-EL Tac only 156.00 208.00
E7193 Smoothing Roller
E7200 Solenoid, 48 Volt dc 124.60 166.25
E7216 Bearing, Inc.  (Old R5078 & E7011) 23.85 32.00
F0026 Front Brush Bracket Assy FR-108 672.75 897.00
G4046 Order R5046 0.00
G4075 Order G7049 0.00
G7008 Rod Steering Connection 12.85 17.25

9:56 AM                                                   VAN-WALL EQUIPMENT
01/27/17 Item Price List

January 27, 2017

Page 1



Item Description Price Retail Price

G7049 Smoothing Roller Complete, GR11000B (Old G4068 ... 199.80 266.50
GD72-3 Aerator, 72" 3 Point W/96 Tines
GD72-P Aerator, 72" Trailer W/96 Tines
GX160 GX160 Honda Engine 377.85 504.00
HOSE-6" Hose, 6" Clear for Mulcher
MT105 Drawbar, Adjustable, With Coupling 38.65 51.75
MT113 Strut, Hydraulic for MT5000 Trailers 115.60 154.25
MT143 Strap only for MT5000 Trailer
MT144 Bracket, JD for MT5000 Trailer
MT147 Spring, MT5000 Latches 7.50 10.00
MT148 Strap & Ratchet Assy., MT5000 42.80 57.25
MT222 Latch Assembly, MT5000 Totes for JD 288.15 384.25
MT231 Greensmower Striker Bar Assembly, JD 114.82 153.25
MT234 Drawbar Catch Extension 138.45 184.75
MT235 MT5000 Uni-Catch Complete Assy, JD 0.00 0.00
MT5000 Mower Tote, Includes Rest Kit 1,421.25 1,895.00
MT5000-1 Rest Kit, Toro 108.35 144.50
R201311 Tine, 3/4" Closed 7.59 10.25
R50-11 Greens Roller, 50" Model 12,684.75 16,913.00
R5007 Order R8379 0.00
R5009 Grip, Joystick 4.00 5.50
R5010 Order R8018 0.00
R5012 Rubber Pad, Foot Pedal 17.25 23.00
R5013 Spiker Handle with Grip 178.85 238.50
R5014 Grip, Spiker Handle 3.50 4.75
R5016 Rubber Strap 21.73 29.00
R5028 Order R8016 0.00
R5031 Coupling, Hydro    (Common) 119.57 159.50
R5033 Hydro Fan 25.50 34.00
R5034 Hydrostatic Pump, Eaton 7 1,067.25 1,423.00
R5035 Sprocket, 11T 17.38 23.25
R5036 Chain, Fits Eaton 7 20.90 28.00
R5037 Order E7044SP 0.00
R5038 Chain Tensioner Kit Update 56.80 75.75
R5039 Sprocket, 30T Eaton 7 57.75 77.00
R5039A Bushing, Fits R5141 Sprocket 13.97 18.75
R5046 Connecting Arm Rod, Replaces G4046 44.60 59.50
R5049 Spring, Steering & Latch 14.60 19.50
R5050 Bearing Truturf roller
R5051 Strut, RS48 (Pair) (Old G4051) 148.98 198.75
R5054 Spiker Engaging Arm 91.50 122.00
R5055 Bearing, Spiker Arm.... 9.98 13.50
R5056 Frame, "H" Spiker
R5057 Arm, Bearing carrier, Spiker frame
R5058 Bearing, B4 16.50 22.00
R5059 Spring, Spiker Frame 8.50 11.50
R5060 Order R5266 0.00
R5062 Shaft, Hexagon for Spiker
R5065 Spring, Spiker Spacer, Hex Shaft 11.25 15.00
R5066 Order R9021 0.00
R5067 Order R5263 0.00
R5068 Order R5264 0.00
R5069 Bearing, 6006 fits R5057 19.25 25.75
R5070 Bearing, B5 21.83 29.25
R5072 Order R6056 0.00
R5073 Rod, Steering Arm, Smoothing head 38.50 51.50
R5074 Swivel Bracket,  RS48-11B S/N R8504 Backwards 156.42 208.75
R5075 Bushing, Nylon Black 13.65 18.25
R5077 Order R5265 0.00
R5078 Bearing, B6 24.22 32.50
R5082 Order R8358 (Specify if going on a TR66) 0.00
R5084 Rod, Connects Smoothing Heads 118.23 157.75
R5085-1 Shim; 1mm Thick; Honda Engine 3.52 4.75
R5085-2 Shim; 2mm Thick; Honda Engine 4.18 5.75
R5087 Key, Woodruff
R5089 Key, Woodruff, for Joystick 2.50 3.50
R5092 Bushing, Nylon 13.65 18.25
R5093 Bushing, Nylon 34.50 46.00

9:56 AM                                                                            VAN-WALL EQUIPMENT
01/27/17 Item Price List

January 27, 2017

Page 2



Item Description Price Retail Price

R5094 Spring, RS48 Chain Tensioner
R5095 Order R8146 0.00
R5099 Bushing, Bronze for Tensioner Arms 8.50 11.50
R5100 Block, Pivot Pin for R7041 98.45 131.50
R5102 Catch, Front Trailer
R5103 Washer; 1/8" x 20.3 mm ID 42 mmOD 2.85 4.00
R5104 Pivot shaft, for R5092 bushing 7.15 9.75
R5106 Order R8358 0.00
R5108 Ball Fitting 6.00 8.00
R5109 Order R8149 0.00
R5111 Order R8150 0.00 0.00
R5112 Order R8151 0.00
R5113 Order R8152 0.00
R5114 Order R8153 0.00
R5118 Rod End, 3/8" 13.50 18.00
R5123 Light Switch 39.93 53.25
R5124 Wire Harness 114.50 152.75
R5129 Hourmeter, Most Gas Models 59.50 79.50
R5131 Bracket, Mounting for R5133 Hydro 120.00 160.00
R5132 Chain Tensioner Arm 71.50 95.50
R5133 Hydrostatic, Eaton 1100 for Rollers 1,128.30 1,504.50
R5136 Sprocket, 11T Duplex (Old #R9003) 17.85 24.00
R5137 Chain, RS48-11C & Older (Old #R9004) 45.40 60.75
R5138 Conn. Link, Fits R5137 (Old #R9005) 4.25 5.75
R5139 Coupling, Eaton Transmission 111.65 149.00
R5141 Order E7131 0.00
R5142 Rubber Cushion, For Engine 37.15 49.75
R5143 Oil Tank, Stainless Steel 245.20 327.00
R5144 Breather, Eaton 11 Hydro 25.50 34.00
R5147 Filter, Eaton Hydro 19.80 26.50
R5148 Sight Glass 49.96 66.75
R515198 Tine Clamp, Therrien 3.30 4.50
R5153 Pipe, D Zinc Coated 44.85 60.00
R5154 Oil Pipe, 469 mm 33.50 44.75
R5156 Key, Hydro Yoke, Sprocket  3 mm x 15 mm 2.70 3.75
R5164 Key, Woodruff
R5168 Order R8227 0.00
R5169 Order R8154 0.00
R5171 Yoke, Eaton Hydro 68.80 91.75
R5173 Strut for Hydro, May need R8227 114.33 152.50
R5179 Order R8227 0.00
R5182 Order R8156 0.00
R5183 Order R8157 0.00
R5185 Rod, Steering Arm to Head 22.60 30.25
R5187 Tube, Smoothing Head.. 74.84 100.00
R5189 Spiker Blades, 8 Pt. 14.65 19.75
R5194 Rod, Smoothing Head 28.13 37.75
R5202 Order R5210 0.00
R5203 Eyebolt, Fits R5210 Strut 14.50 19.50
R5204 Order R8088 0.00
R5208 Order R8067 0.00
R5209 Order R8052 0.00 0.00
R5210 Gas Strut, Trailer Arm  (Old R5202) 212.80 283.75
R5211 Order R8158 0.00 0.00
R5216 Offset Link for Duplex Chain 4.50 6.00
R5219 Seal Kit, Eaton 11 41.14 55.00
R5223 Order R5248 0.00 0.00
R5224 Bearing, Output Shaft, Flow-thru Eaton Hydro (#54) 26.80 35.75
R5226 Hydro Oil, Acquire locally, Mobil 1 5W50 Synthetic (... 0.00
R5233 Elbow, Hydraulic 21.25 28.50
R5235 Tube Spacer, Steering Head 4.00 5.50
R5241 Black Mini Pinch Weld 9.50 12.75
R5245 Shaft, Output , Hydro (#47) 132.87 177.25
R5246 Seal, Output Shaft, Eaton Hydro (#52) 14.10 19.00
R5247 Seal, Square Cut O-Ring, Hydro (#25) 6.65 9.00
R5248 Bearing, Output Shaft, Eaton, (Old R5223) (#53) 55.60 74.25
R5251 Assembly, Chain Tightener Arm
R5253 Wiring Harness for LED Light Kit 63.03 84.25

9:56 AM                                                                            VAN-WALL EQUIPMENT
01/27/17 Item Price List

January 27, 2017

Page 3



Item Description Price Retail Price

R5256 Order R8292 0.00 0.00
R5263 Bearing Assy, Inc. R5067, R5070 35.40 47.25
R5264 Bearing Assy. Inc. R5068, R5070 29.97 40.00
R5265 Bearing Housing, Inc. R5077, R5078 39.91 53.25
R5266 Bearing Assy. Inc. R5058, R5060 29.55 39.50
R5267 Input Shaft, Eaton 1100 (#21) 133.18 177.75
R5268 Bearing, Input Shaft for Eaton (#15) 11.85 16.00
R6001 Trailer Catch 72.50 96.75
R6003 Order R8275/T39471 0.00 0.00
R6004 Order R9009 0.00 0.00
R6008 Order R6056 0.00
R6009 Joystick Shaft 116.50 155.50
R6010 Bushing, Trailer Arm 9.25 12.50
R6012 Steering Arm,  RS48-11C 85.13 113.75
R6013 Rubber Buffer Stop 21.10 28.25
R6014 Order R8016 0.00 0.00
R6016 Order R8152 0.00 0.00
R6017 Safety Pin, Includes Chain 9.25 12.50
R6019 Order R8440 0.00
R6027 Seal, Hub Inner
R6028 Wheel Bearing, Inner
R6029 Wheel Bearing, Outer
R6035 Hub, Complete with Nuts, Washer
R6039 Wheel Assembly Complete,16 x 6.5 x 8 109.00 145.50
R6041 Decal, Danger
R6042 Order R8358 0.00 0.00
R6043 Order R8358 0.00 0.00
R6045 Bushing, Sprocket 22.50 30.00
R6047 Order R8358 0.00 0.00
R6048 Scraper Rod Set,  (1/4")  RS48-11B S/N R6174-R85... 117.15 156.25
R6056 Joystick, RS48 Roller, (Old R6008) 98.50 131.50
R6063 Fuel Cap, Honda 22.85 30.50
R7020 Drum Brake Unit 196.87 262.50
R8002 Order R9018  (Need SN) 0.00 0.00
R8003 Order R8205 0.00 0.00
R8004 Order R8384 0.00
R8005 Foot Pedal Arm 116.50 155.50
R8006 Bushing, Smoothing Head 8.10 11.00
R8008 Order R9019   (Need SN) 0.00 0.00
R8009 Bushing, Trailer Arms 15.20 20.50
R8013 Filter Housing, RS48-11C 98.60 131.50
R8014 Circlip, 52 I.D. for Rollers 2.25 3.00
R8015 Washer, 25 x 52 x 3 Rollers 5.47 7.50
R8016 Bearing, SS for Smoothing Rollers 18.00 24.00
R8017 Order R8358 0.00
R8018 Bearing, SS RS48 Roller (Old R5010) 17.75 23.75
R8019 Axle Retro, 25 MM. RS48-11C
R8020 Order R8358 0.00 0.00
R8021 Order R8358 0.00 0.00
R8024 Order R8365 0.00 0.00
R8027 Order R9027 0.00 0.00
R8028 Order R8030 0.00 0.00
R8030 Brush, Includes R8028, R8029 101.50 135.50
R8031 Brush Kit, Complete 363.75 485.00
R8038 Bolt 1.30 1.75
R8039 Nylock Nut, M12 1.00 1.50
R8047 Washer, Foot Pedal 1.50 2.00
R8052 Lock Washer (Old R5209) 0.45 0.75
R8055 Nylock Nut, 3/8" UNF 1.00 1.50
R8056 Nylock Nut, 3/8" UNF (Half) 0.90 1.25
R8059 Bolt, Output Shaft, Hydro 0.55 0.75
R8060 Nylock Nut, 1/2" UNC 1.25 1.75
R8066 Bolt, 3/8" X 3/4" UNF 1.30 1.75
R8067 Roller Bolt, 3/8" (Old R5208) 2.00 2.75
R8072 Bolt, 3/8" x 2.5" 2.09 3.00
R8073 Bolt, 3/8" x 3 UNF 3.00 4.00
R8079 Setscrew, 5/16" 1.50 2.00
R8086 M12 Hex Nut 0.60 1.00

9:56 AM                                                   VAN-WALL EQUIPMENT
01/27/17 Item Price List

January 27, 2017

Page 4



Item Description Price Retail Price

R8088 Nut, (Old #R5204) 1.22 1.75
R8090 Grub Screw
R8092 Bolt, M12 x 45 2.00 2.75
R8101 Nylock Nut 1/2" UNF 0.80 1.25
R8122 Screw, 3/8" x 1.25 UNC 1.54 2.25
R8146 Washer; Capped; Starlock (Old R5095) 4.50 6.00
R8149 Clip; 13 mm Retainer (Old R5109) 1.25 1.75
R8150 Retainer Clip, 10 mm   (Old R5111) 1.20 1.75
R8151 Circlip, External 25 mm  Black  (Old R5112) 1.00 1.50
R8152 Washer, Flat 24 x 44 x 2 (Old R5113) 0.75 1.00
R8153 Cup; M8 fitting (Old R5114) 0.75 1.00
R8154 Cup End, for R5173 Strut (Old R5169) 12.50 16.75
R8156 Circlip, (Old R5182) 0.33 0.50
R8158 Allen Screw, Countersunk  (Old R5211)
R8201 Scraper Rod, RS48-11C (3/16') After S/N R8505 (Re... 15.96 21.50
R8205 Swivel Arm, Smoothing Head, R8505 and Up 152.20 203.00
R8208 Bolt for E7131 1.60 2.25
R8209 Order R8409 0.00
R8210 Order R8227 0.00
R8211 Roller Shaft, fits  R8358 & R8217 Roller
R8212 Bearing, RS48-11D, R52-11T Smoothing Roller
R8213 Order R8409 0.00
R8214 Order R8409 0.00
R8215 Circlip, 20 MM External SS 3.25 4.50
R8216 Tube & End Caps 116.50 155.50
R8217 Roller Complete, Serviceable RS48-11D 125.50 167.50
R8218 Acetal Washer (Part of R8227)
R8220 Tube; Tie Rod; Steering 6.38 8.75
R8221 Steering Rod 18.59 25.00
R8222 Rod Unit, Includes. 2-E7019; 1-R8086; ..2-R8087; 1-... 153.50 204.75
R8223 Tube Tie Rod, Smoothing Heads, 1/2" 13.50 18.00
R8225 Rubber Buffer, Smoothing Head 49.85 66.50
R8227Kit Slide Unit Kit, Includes (2)  (Old R9027) 28.50 38.00
R8228 Ball Hitch, RS48-11D 225.50 300.75
R8229 Scraper Rod Set, RS48-11C (3/16') After S/N R8505... 88.50 118.00
R8250 Nylock Nut; 3/16" UNF 1.00 1.50
R8256 Nylock Nut, M8 0.40 0.75
R8270 Wiring Harness, Lights 45.53 60.75
R8275 Seat Plate, Will fit Lights 162.34 216.50
R8283 Steering Rod Assembly 76.50 102.00
R8285 Rod End; Female; 1/2" UNF 18.50 24.75
R8286 Threaded Rod; Steering Unit; 1/2" 16.50 22.00
R8287 Rod End, 1/2" Female Studded, 90° Angle 18.72 25.00
R8288 Threaded Rod, Steering Head Unit 31.93 42.75
R8289 Tie Rod Assembly 131.80 175.75
R8290 Order R8358 0.00 0.00
R8291 LED Light Kit, Fits RB48-11A 235.50 314.00
R8292 Light Kit, Older RS48-11C (Old R5127) 375.00 500.00
R8296 Order R8365 0.00
R8298 Arm, Spiker Engaging Arm
R8305 Order R8440 0.00
R8310 Bushing, Flanged 15.90 21.25
R8312 Grub Screw
R8317 Drawbar, Longer Ball Hitch, RS48-11's 242.50 323.50
R8320 Order R8384 0.00
R8330 Order R8455 0.00
R8342 Rubber Grommet, Roller
R8343 Latch Assembly 43.80 58.50
R8346 Key-Latch for Hydro Cover
R8354 Cable Assy Park Brake RS48-11E 31.95 42.75
R8358 Roller Complete, Replaces R8020, R8021, R8290, R... 123.50 164.75
R8360 Bushing, Acetal 26.60 35.50
R8361 Bushing, Sizing, Acetal 31.82 42.50
R8362 Seat Pan 208.70 278.50
R8365 Seat Assembly, W/Armrests, May Need T39471 436.53 582.25
R8372 Spiker, Large Pin Assembly 1,023.00 1,364.00
R8378 Oil Drain Deflector, Honda Engine 23.80 31.75
R8379 Seat, Replaces KAB Seat (Old R5007) 471.90 629.25

9:56 AM                                                                        VAN-WALL EQUIPMENT
01/27/17 Item Price List

January 27, 2017

Page 5



Item Description Price Retail Price

R8384 Basic Transmission Cover (Old R8004  R8320) 297.98 397.50
R8389 Transmission Cover  (Old R9067  R9073) 306.25 408.50
R8394 Brake Switch 99.64 133.00
R8406 Bearing & Seal Kit, R8217 & R8358 Rollers With Pre... 118.50 158.00
R8409 Seal, Fits R8217, R8358 Rollers With Pressed in En... 4.37 6.00
R8440 Drawbar (Old R6019  R8305) 167.50 223.50
R8455 LED Light, Replaces R8320  R8330 85.65 114.25
R9001 Honda Engine Complete, Truturf Rollers 691.66 922.25
R9002 Order E7131 0.00 0.00
R9003 Order R5136 0.00 0.00
R9004 Order R5137 0.00 0.00
R9005 Order R5138 0.00 0.00
R9007 Order E7044SP 0.00 0.00
R9009 Smoothing Head Cover, Front RS48-11C 319.97 426.75
R9010 Smoothing Head Cover, Rear RS48-11C 319.97 426.75
R9013 Smoothing Head Cover, Front RS48-11D & E 319.97 426.75
R9014 Smoothing Head Cover, Rear RS48-11D & E 319.97 426.75
R9015 Smoothing Head, Front Assy. Complete-RS48-11D ... 792.90 1,057.25
R9016 Smoothing Head, Rear Assy. Complete-RS48-11D &... 792.90 1,057.25
R9018 Trailer Arm, LH, RS48-11D 1" Axle 280.84 374.50
R9019 Trailer Arm, RH, RS48-11D 1" Axle (Strut Arm) 291.48 388.75
R9021 Drive Roller  (Old R5066) 1,077.00 1,436.00
R9027 Order R8227 8.50 11.50
R9028 Order R8227 5.17 7.00
R9029 Seal, Hub Inner, 1.25 x 1.983 x .25 12.50 16.75
R9030 Hub Bearing, Inner & Outer
R9032 Washer, Fits Hub 3.50 4.75
R9035 Cap for Wheel Hub 9.00 12.00
R9037 Wheel Hub Complete (Old R9038 Parallel Axle) 59.50 79.50
R9071 Decal, RS48-11E 5.00 6.75
R9073 Order R8389 335.00 446.75
R9074 Wheel Assy, 52" Rollers 130.72 174.50
R9085 Square Key, Eaton Output Shaft 4.50 6.00
R9086 Decal, Safety for Transmission Cover
R9107 Seat Switch, Occupancy-Milsco seat 78.85 105.25
R9110 Frame Kit for Roller Attachments 312.56 416.75
RS2067 Slicer Kit - 15x8 Pointed Blades 1,076.50 1,435.50
RS2168 LED Light Kit 216.00 288.00
Sm. Spring Small Spring, Pro-Chopper.. 2.53 3.50
SR72 Sports & Field Roller w/Spiker
T3004 Order T3101 0.00
T3005 Roller Shaft, TR66 110.14 147.00
T3008 Shaft, Hexagon 108.72 145.00
T3010A Order T3018 0.00 0.00
T3011 Sleeve, Crank Bolt 3.40 4.75
T3012 Spacers, Set of 4 6.00 8.00
T3018 Spacer Set, (Old T3010) 35.53 47.50
T3101 Smoothing Roller, Complete for TR66 157.50 210.00
T3120 Brush Kit for TR66 682.50 910.00
T39471 Seat Base Adaptor
T4001 Bracket, Fits Jake 104.50 139.50
T6006 Attaching Mount
T7009 Chain, Duplex, R52-11T, R52-11TC 45.65 61.00
T7010 Joystick, R52-11T, R52-11TC 228.45 304.75
T7011 Rod Steering Unit 112.91 150.75
T7019 Bearing, 6300 SS 13.50 18.00
T7032 Ball Hitch, R52-11T, R52-11TC 225.00 300.00
TR66 Triplex Roller & Brackets 5,377.50 7,170.00
Transition Transition, Pro-Chopper
Tub Roller Tub Roller Complete, Pro-Chopper
Wheels Therrien Aerator Wheel 121.55 162.25

9:56 AM                                                                         VAN-WALL EQUIPMENT
01/27/17 Item Price List

January 27, 2017

Page 6




